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062 12 == 062 13 = 06% 14 = 06 17 = 062 18¢ =t
BH2RPOHT| 70,000 | SR EZ|: 10,000 | SAH7|2 3,000 | SeHAIETE 30,000
SoHHZEZ 4,000
SO0 11,000 | IS 70,000 SeHHTEZI( 2,700
mE- L 8,000 =] 21,500
3= =Sxe 5,000
WEZ AL 20,000
ZE S0 35000 | =HO S0 33,000 | =HO S0 33000 | =HolS2H 33,000 | =H0|IS2H 33,000
MEED 4 13,000 | AE (=) 4 5,000 | FHE(F D) 4 5000 | AE(FD) 4 5,000 | RHE(=D) 4 5,000
72,000 198,000 48,000 41,000 96,200
sh2RPOHZh 100,000 =0 el 3,000 | SCtAE (28 30,000
SRl 3,000
SeH 8,000
= A= 10,000 =R el 21,500
ael
) MgsH2s 25,000
=do 2 33,000 | == 2 33,000 | == 2 33,000 | == 2 33,000 | == 2 33,000
HEM S 56,000 | 7IEtMIY S 5000 | 7IEFMIQ S 5000 | 7IEtMIQ S 5000 | Z7IEFNQ S 5,000
89,000 173,000 38,000 41,000 100,500

MBEZY 1283 % 1%
19

ZEE U 18
M 18%

N | S ]
MY 9%  14%
oY 1% 9%

REPQ!

UBOR(US) 24530%  24506%  24357%  24495%
KOSPI 206001 20233 200049 211181
o)
KOSDAQ  TOTT5 71693 UoTBn
q4=8 116 . 2 11804

A2y 1084 10851

KIDB X237



